S A- A%0ag B P20
FN7N LM AR SINR ILAZ Y TH— L
gwav(E) LRV IA—L T —
A ZEVAG LYLRYTA— I IN—T RO T —
lingyi] CEIER DA —IVy MU LR VB S A — OO LR R
Flek A—IMIT S v oo LR R
% YRR ( B AK—UYS ] (m/m:munuo] [W:WN/OAK/OAK-BK]
WL KW/ XA  KZ/RW MS WL KW/ XA  KZ/RW MS
194 it 753,500 649,000 575,300 475,200 1944 B - 4 1,036,200 954,800 895,400 817,300
19444 B Bt 755,700 652,300 577,500 477,400 97AL 420,200 360,800 319,000 261,800
SAGTES D 194K R - 4 1,035,100 953,700 895,400 816,200 97D& A FAL 539,000 465300 411,400 339,900
97 ft 418,000 358,600 315,700 258,500 I 194K4KT > F IV F 770,000 666,600 591,800 491,700
97D% 1 7K Bt 537,900 463,100 410,300 338,800 1000—7— 480,700 413,600 366,300 301,400
1004w F<> 357,500 305800 268,400 217,800
194744 it 380,600 356,400 333,300 309,100 286,000 e _ " " "
19424 it 385,000 360,800 336,600 312,400 288,200
g - 705,100 683,100 661,100 639,100 617,100
L 194k kR - 4 701,800 679800 658900 638000 616,000 194KMERH -
97AL 224,400 209,000 193,600 179,300 163,900
97K B 223,300 207,900 192,500 177,100 162,800
224,400 209,000
97D % 1 TH B 255200 239,800 223300 207,900 191,400 i 97D% A JAL 256300 240,500 192,500
+ 194K T VT IV Y F 402,600 376,200 348,700 322,300 295,900
1000—7+— 258,500 242,000 225,500 207,900 191,400
WL KW/ X%  KZ/RW MS 1004y b= 185900 171,600 157,300 143,000 128,700
N T — L 221,100 191,400 170,500 141,900
= % O—7—1Ls 201,300 176,000 157,300 132,000
BERARNIVAZ—
Pyl 180,400 155,100 136,400 111,100

rank3

INAT =L

138,600 128,700 118,800 108,900

O—7—4 115500 107,800 101,200 94600 88000
U RIoEy 96,800 89,00 82500 7480 67,100
Dy KF7—L 180400




rank5 rank4 rank3 rank2 rank1

194 ANl it 144,100 119,900 96,800 72,600 49,500
194484 Ft 146,300 122,100 97,900 73,700 49,500
1944 AT - 4 132,000 110,000 89,100 68,200 46,200
194K - i 135,300 113,300 91,300 69,300 47,300
97 F Bt 95,700 80,300 64,900 50,600 35,200
97AL 95,700 80,300 64,900 50,600 35,200
97D% A TH Bt 100,100 84,700 68,200 52,800 36,300
97D2 1 FAL 100,100 84,700 68,200 52,800 36,300
194K T > T IV F 159,500 133,100 105,600 79,200 52,800
1000—+— 108,900 92,400 75,900 58,300 41,800
1004w bV 92,400 78,100 63,800 49,500 35,200
INTT — L 63,800 53,900 44,000 34,100 24,200
a—7—ALA 47,300 39,600 33,000 26,400 19,800

BERRIVAZ—
NEIvY 3V 49,500 41,800 35,200 27,500 19,800

Size pattern
1945 B¢ - 1 97AL 97D% 1 FAL 1947 > T IRV F 1000—+— 1004wy bR

W2170 D1000 H605 SH365

1940

W970 D1000 H605 SH365

W970 D1200 H605 SH365

W1940 D1000 H605 SH365

Nl

= = =l EBEes =

970

1200

1940

W1000 D1000 H605 SH365

I

1000

W1000 D1000 H365

-

‘5o¢

1000

1000

P9



Size pattern

194 Bt
W1940 D1000 H605 SH365

—— . 2
— 5 =B
1940 1000

97 F Bt

W970 D1000 H605 SH365

194 5 B
W1940 D1000 H605 SH365

970% 1 7H K
W970 D1200 H605 SH365

194 AT - 48
W2170 D1000 H605 SH365

1940

2170

INAT — L
W230 D1000 H605

I

IR

230 1000

509

DAV NVl N
W230 D970 H590

O—7—L
W280 D1000 H440

I

1 [
280 1000

BEARARNIVAZ—FE
Jgvrav

W700 D270 H530

—]

970 970 1200

=

230 _o70 700 270

Combination pattern

194K - W+oy F7— L
+ERARNIVAZ—[ET Y3 X2

194@m+/\1 7 —L+0—7 — LA
+ERRIVAZ—FET v 3 X2

1945 B « #4+97 5Bt +/\1 7 — L
+ERARIVAZ—{FET v 3 X3

97AL+97D %2 A THBES+/\1 7 — Ly
+ERARIVAZ—FET v 3 X2

\ | | | \ Hl I M m }
I
I I ‘I I i
2400 2450 2170 3370

P10



194 B¢ - HM+1004 Y b
+97ERKN+T Yy R7—L
+ERARIVAZ—{FEI v 3 X3

==

0oce

3170

1945 B - B+H194ET7 > TV F

+EARNIVRAZ—FEI v 3 X3

1
|

3810

194K K - A+ v K7 —L
+EARARNIVRAZ—FET v 3 X2

0001

194ERR+N\17— L+
1000 —+—+97AL
+ERRIAZ—FET v 3 X3

==y

0/61

3170

ITEER+/INA T — L+
97AL+ 194K B - Z4H
+EARIVAZ—{FET v 3 X4

g o

4340

97AL+97DR A TERM+N\A7 =L
+ERRIVAZ—ET v a3 X2

|
al

194ERR+/\17—L+
1000—+—+9768FR+0—7—L4
+ERRIVAZ—FEI v 3 X3

(44

3170

oozl

1945 Bt - BM+97AL+

1004wy bRV+HI7ERBF+O0—7— LA

+ERRIVAZ—FET v 3 X4

\An—“nzlnzl

0sce

4140

19467 V7 IRV FH194ERB+N\A1 7 — LA

+EARIVAZ—FET v 3 X3

|
al

3810

19458 - BM+1004 v h< >
+97AL+97D2 A TEEN+IN\1T7 —L
+ERARIVAZ—(FET v a X4

- |
i

[

0LLE

3170

97aKHK R +97AL+
O7ERAR+O—T7—LA
+ERARIVAZ—{FET v 3 X3

Ininnl

3470

0001

P11



